EARAROBREBRT —5 XN—ZXBISH—F 202358218 (B) 2EBERR10H

W OU—o14S 3WISR YS5FR4®E CBB) (FHE) T2 BRI
[AE%) 1 & :18,400,000 @ 2 3#&:7,400,000 3 3&:4,600,000 9 4 3% :2,800,000 5 & :1,840,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
°o o> M RE 1:20. 12-14 .41 105. 1 4 SisE E8)
118116/ 1Y PTI2Y 4% 5 i (_o)e 33 05.3] 15 (_?2) e ¢
RiXIT T« B:RTUVITTIRY Lidaakae
“ 3 44 | ENEES 1:20.8 1-1 34.71104.2| 10 | 504 |BEEE(T CSH)
7 5| EYvILIR L 58.0 @) “2) ®) CvIlyRIr—0
RibotoO0—-U— B:SARTO4Y o riive]
< R BlgEX : - HEW— (R
N . B w5 |8 P S A bt R B Il
RUAVFA—R B:ILIVIL—Va J=HUT7—L
S o = Tm S [© # 5 | C. bX=)b 1:20.9 12-12 [33.6|104.2| 7 490 | FEER (KH)
4 g| FvTEVR 58.0 ) ) BRARYILY
RRSAVF BY—RAVII—FTvR /=Y Tr—1L
= st 5 | AMEIGH 1:20.9 8-8 34.0104.1| 16 | 462 |BEBR— EH)
518(18| 7=07 56.0 1) ) | M=
R:O—RAFO7 B:SARIILY TANA 5
S “ 4 4 | HELFDE 1:20.9 8-9 33.8(104.2| 5 470 | REAE FH)
EH 6| 7Ibb>agvhb 58.0 FI) © | @ FrOvror—i
R:O—RAprrO7 BT VRI—T /=Y Tr—I
KEFIRE : - WHEFIE (FFR
715110/ HILTF—3ZEZ [B] 4 5 Ejé_o 1(721:? 18-18 | 33.2[103.2| 13 fﬁ PR E®R)
RFVIAXNXN B:SIO0IRER J=HUT7—L
—_ e~ IRHIEEE : - REBAN (FR)
8 1l 23—wa=nNvz it 4 B 1(721119 15-15 [ 33.5/103.1| 8 (4338) %#gm
R:RwSXYF BAVRZFPLT« J—YUTr—L
I 4 | HE 1:21.1 5-6 34.31101.9| 9 4 BtEn &8
9 4| 7700V # 56.0 1/2) (2)6 7T<J:B\U?
RINMVTSY BSVRY oAV X =
o~ st 4 | KEFER 1:21.2 8-9 34.2/100.9 | 12 | 470 | KTIER GE#)
1001 2| 7NFauUT 56.0 C15) (-4) | DMMRU—LIST ()
RIE—UR BNVFTAT /=Y Tr—I
S 5 = ¢ = 8% 4 | M. FL—0O 1:21.2 5-4 34.51100.8| 3 442 | EEN (GH)
11/8[17| ¥21ITL 51T .0 @E) ) | ) JLRIFA—95TLy KR
R:xYUSTyk §:vadrUT FEER Y R
o3y o~ ft 4 | BENT 1:21.2 17-16 | 33.6[101.0 | 18 | 440 |EKHE (KR
120713 EFR=> 3> 56.0 0\F) *2) allimT
RiAIR B:7RUT7—% KALBUS
—H~ so4 | SHEA 1:21.2 16-16  [33.6101.0| 6 | 472 |ENE= (FRN)
Eﬂ7 ElL/O—8>3X [B] 5.0 0\ o | ) e/
RiFXF B:TavIIbNU— HERARIS
5 D D. b=V 21, = . . BKAEE (FR)
14l5] o | RILBPTTREF— 44 o 1(12/12)3 12-12 | 34.0] 9.8 | 1 (5+120) j?%,ﬂg;egs
RiFRXF B:RF—H NIUAT7—1L
W R 4 6 | AEFNT 1:21.4 1-1 34.2|98.7 | 17 464 | IVHE (RE)
EHQ TvRIvIR 5.0 @E) e | BT
RiIvRIVTA B:TYRILYFVT ESHhI7—L4L
L so4 | NHEEE 1:21.4 3-3 35.0( 97.9 | 11 | 450 |mEES (G5H)
167 14| SAKNZ=—% 5.0 F) 0 |8 R0-IsFL—yv7
RiARASKR=Z—9 B:OVTKy hFT— HEI77—LA
S — 4 5 | ERHAR 1:21.5 5-6 34.7197.6 | 4 510 |ELAAR= (BR)
1711111 ¥3avyaob—J 58.0 (3/4) @) | LEF
RiZvF—7A4) B:vavUavh—y /=Y ITr—1L
~ )t — 4 5 | =HEM 1:21.6 2-2 35.3] 95.9 | 14 | 444 |BERE ER)
18715 7~ €~ =2 Sl G/4) w4 |SEBE
RiAWT7z—J) B:1-0OYvr—U—V /=Y Tr—I
[ BN
A 46.4-34.7
NOYFA LA | 12.3-10.9-11.2-11.7-11.4-11.3-12.0
@ I1—JF—BEBIEfI
13—7F—
20—7F—
30—7— 5,15,14,3(1,4,17) (2,6,18)12(9,8,16)11,7,13,10
43—F— 5,15,14(3,17) (1,4)18(2,6)12(9,8) 16,11 (7,13) 10
o ILRE
B 16 12,5101 JA R 5-16 26,780 & 3-8 2,910 3EE 3-5-16 358,020/
B B 16 2,040 3-16 10,7204 /B E 5-16 109,840H 3EE 16-5-3| 3,366,490/
5 7204 3-5 2,890 o= 16-5 273,360
3 220

ABIC OV TRUTEREERRODDZE. THRIIZEL.




